ZUSAMMENFASSUNG

Mefort:
MefRzeitraum:

Gesamt =>
PKW =>
LKW =>
LZ =>
Gesamt<=
PKW <=
LKW <=
LZ <=
Gesamt<=>
PKW <=>
LKW <=>
LZ <=>
km/h
unter 15
15- 19
20- 24
25- 29
30- 34
35- 39
40 - 44
45 - 49
50- 54
55- 59
60- 64
65 - 69
70- 74
75- 79
80- 84
85- 89
90- 94
95- 99
100 - 104
105 - 109
110 - 114
115 - 119
120 - 124
125 - 129
130 - 134
135-139
140 - 144
145 - 149

Uber 149

Kucklingsweg vor Sportplatz
24.06.2009 07:00 Uhr

Anzahl

500
500
0
0

402
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902
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PKW>

100
60
60
104
107
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- 25.06.2009 07:00 Uhr

v50

24,4
24,4
0
0

32,2
32,2
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v85

32,7
32,7
0
0

42,3
42,3

38,7
38,7

vmax

53
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58
58

58
58
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Anteil [%)]

100,0
100,0
0,0
0,0

100,0
100,0
0,0
0,0

100,0
100,0
0,0
0,0

LZ<
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